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AD–4119

B.A. Part–I (Semester–II) (CBCS) Examination

(Optional Subject)

POLITICAL SCIENCE

(Indian Political System)

Time : Three Hours] [Maximum Marks : 80

1. Select correct option :

(1) When was the first General Election held in India ?

(a) 1951 (b) 1952

(c) 1947 (d) 1950

(2) Who appoints the Chief Election Commissioner ?

(a) President (b) Vice President

(c) Judge (d) Prime Minister

(3) Where is the head office of Election Commission ?

(a) Mumbai (b) Kolkata

(c) Delhi (d) Nagpur

(4) What is minimum age limit for an Indian voter ?

(a) 21 years (b) 18 years

(c) 25 years (d) 30 years

(5) According to which Article of the Constitution, the provision has been made for the post of
Governor ?

(a) 153 (b) 154

(c) 155 (d) 156

(6) What is the minimum age limit for the post of Governor ?

(a) 25 years (b) 30 years

(c) 35 years (d) 18 years

(7) How many years is the tenure of Governor ?

(a) 5 years (b) 4 years

(c) 2 years (d) 3 years

(8) Who is the Constitutional Head of the State ?

(a) Governor (b) President

(c) Chief Minister (d) Prime Minister
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(9) Who is the real head of  Government of the State ?

(a) Governor (b) Prime Minister

(c) Chief Minister (d) President

(10) How many years is the tenure of the Chief Minister ?

(a) 3 years (b) Up to vote of confidence of Vidhan Sabha

(c) 4 years (d) 2 years

(11) How many years is the tenure of State Cabinet ?

(a) 3 years (b) Up to vote of confidence of Vidhan Sabha

(c) 2 years (d) 4 years

(12) To whom the State Cabinet is responsible ?

(a) Lok Sabha (b) Rajya Sabha

(c) Vidhan Sabha (d) Vidhan Parishad

(13) What is the number of members of Legislative Assembly of Maharashtra ?

(a) 250 (b) 552

(c) 288 (d) 78

(14) Which is the first house of State Legislature ?

(a) Vidhan Sabha (b) Rajya Sabha

(c) Lok Sabha (d) Vidhan Parishad

(15) How many years is the tenure of Legislative Council members ?

(a) 6 years (b) 5 years

(c) 3 years (d) 2 years

(16) Where is the High Court of Maharashtra ?

(a) Mumbai (b) Chennai

(c) Kolkata (d) Pune

(17) Who appoints the Judge of High Court ?

(a) Prime Minister (b) President

(c) Governor (d) Chief Minister

(18) What is the retirement age of the Judge of High Court ?

(a) 65 years (b) 62 years

(c) 60 years (d) 55 years

(19) How many years is the tenure of the Sarpanch ?

(a) 5 years (b) 7 years

(c) 4 years (d) 6 years

(20) How many Gram Sabhas have been called by Sarpanch in one year ?

(a) 4 (b) 6

(c) 5 (d) 3 20
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2. (i) Write the composition, powers and functions of the Election Commission. 12

OR

(ii) Write the Code of Conduct of Election. 12

3. Write short answers :

(a) Write the qualifications for the post of Governor. 3

(b) Write the tenure of the post of Governor. 3

(c) Write how Chief Minister is appointed ? 3

(d) Explain, the Chief Minister is the leader of the Cabinet. 3

OR

(e) Write the discretionary powers of the Governor. 3

(f) Write the legislative powers of the Governor. 3

(g) Write the position and role of the Chief Minister. 3

(h) Explain how the Governor can be dismissed ? 3

4. (i) Write the structure of the Legislative Assembly and its powers and functions. 12

OR

(ii) Write the structure of Legislative Council powers and functions. 12

5. Write short answers :

(a) Write the structure of High Court. 3

(b) Write the Territorial jurisdiction of the High Court. 3

(c) Write the structure of District Court. 3

(d) How the High Court Judge dismissed ? 3

OR

(e) Write the jurisdiction of the District Court. 3

(f) Write the qualifications of the High Court Judge. 3

(g) Write the position and role of High Court. 3

(h) Write the original jurisdiction of High Court. 3

6. Write short answers :

(a) Write the structure of Gram Panchayat. 3

(b) How Sarpanch is appointed ? 3

(c) How Sarpanch is dismissed ? 3

(d) Write the structure of Gram Sabha. 3

OR

(e) Write the four functions of Gram Sabha. 3

(f) Write the four functions of Sarpanch. 3

(g) Write the four functions of Village Development Officer. 3

(h) Write the importance of Gram Sabha. 3
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AD–4119

B.A. Part–I (Semester–II) (CBCS) Examination

(Optional Subject)

POLITICAL SCIENCE

(Indian Political System)

Time : Three Hours] [Maximum Marks : 80

¼ejkBh ekè;e½

1. ;ksX; i;kZ; fuoMk %

(1) Hkkjrkr ifgyh lkoZf=d fuoM.kwd dsOgk ?ks.;kr vkGh \

(v) 1951 (c) 1952

(d) 1947 (M) 1950

(2) eq[; fuokZpu vk;qDrkph fu;qDrh dks.k djrks \

(v) jk"Vªirh (c) mijk"Vªirh

(d) U;k;k/kh’k (M) iz/kkuea=h

(3) fuokZpu vk;ksxkps eq[; dk;kZy; dksBs vkgs \

(v) eqacbZ (c) dydÙkk

(d) fnYyh (M) ukxiwj

(4) Hkkjrh; ernkjkph dehr deh o;kse;kZnk fdrh o"kkZph vkgs \

(v) 21 o"ks Z (c) 18 o"ks Z

(d) 25 o"ks Z (M) 30 o"ks Z

(5) lafo/kkukP;k dks.kR;k dyekuqlkj jkT;iky inkph rjrwnh dj.;kr vkGh vkgs \

(v) 153 (c) 154

(d) 155 (M) 156

(6) jkT;ikyinklkBh dehr deh o;kph e;kZnk fdrh vkgs \

(v) 25 o"ks Z (c) 30 o"ks Z

(d) 35 o"ks Z (M) 18 o"ks Z

(7) jkT;ikGinkpk dk;ZdkG fdrh o"kkZpk vlrks \

(v) 5 o"ksZ (c) 4 o"ksZ

(d) 2 o"ksZ (M) 3 o"ksZ
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(8) ?kVdjkT;kpk laoS/kkfud izeq[k dks.k vlrks \

(v) jkT;iky (c) jk"Vªirh

(d) eq[;ea=h (M) iz/kkuea=h

(9) ?kVdjkT;kpk okLrfod ’kkluizeq[k dks.k vlrks \

(v) jkT;iky (c) iz/kkuea=h

(d) eq[;ea=h (M) jk"Vªirh

(10) eq[;ea=;kpk dk;Zdky fdrh o"kkZpk vlrks \

(v) 3 o"ksZ (c) fo/kkulHkspk fo’okl vls i;Zar

(d) 4 o"ksZ (M) 2 o"ksZ

(11) jkT;eaf=eaMGkpk dk;Zdky fdrh o"kkZpk vlrks \

(v) 3 o"ksZ (c) fo/kkulHkspk fo’okl vls i;Zar

(d) 2 o"ksZ (M) 4 o"ksZ

(12) jkT;eaf=eaMG dq.kkyk tckcnkj vlrs \

(v) yksdlHkk (c) jkT;lHkk

(d) fo/kkulHkk (M) fo/kku ifj"kn

(13) egkjk"VªkP;k fo/kkulHksph lHkkln la[;k fdrh vkgsr \

(v) 250 (c) 552

(d) 288 (M) 78

(14) jkT;fo/kheaMGkps izFke lHkkx‘g dks.krs \

(v) fo/kkulHkk (c) jkT;lHkk

(d) yksdlHkk (M) fo/kku ifj"kn

(15) fo/kku ifj"kn lHkklnkapk dk;Zdky fdrh o"kkZpk vlrks \

(v) 6 o"ksZ (c) 5 o"ksZ

(d) 3 o"ksZ (M) 2 o"ksZ

(16) egkjk"Vªkps mPp U;k;ky; dksBs vkgs \

(v) eqacbZ (c) psUubZ

(d) dksydkrk (M) iq.ks
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(17) mPp U;k;ky;kP;k U;k;k/kh’kkph fu;qDrh dks.k djrks \

(v) iz/kkuea=h (c) jk"Vªirh

(d) jkT;iky (M) eq[;ea=h

(18) mPp U;k;ky;kP;k U;k;kf/k’kkps lsokfuo‘rh o; dhrh \

(v) 65 o"ks Z (c) 62 o"ks Z

(d) 60 o"ks Z (M) 55 o"ks Z

(19) ljiapkpk dk;Zdky fdrh o"kkZpk vlrks \

(v) 5 o"ksZ (c) 7 o"ksZ

(d) 4 o"ksZ (M) 6 o"ksZ

(20) ljiapkus o.kkZrwu fdrh xzkelHkk cksykfoY;kp ikghts vls ca/ku vkgs \

(v) 4 (c) 6

(d) 5 (M) 3 20

2. (i) fuokZpu vk;ksxkph jpuk] vf/kdkj o dk;sZ fygk- 12

fdaok

(ii) fuo.kwdhph vkpkj lafgrk fygk- 12

3. FkksMD;kr mÙkjs fygk %

(v) jkT;ikyinkph ik=rk fygk- 3

(c) jkT;ikyinkpk dk;Zdky fygk- 3

(d) eq[;ea=;kph fu;qDrh d’kh gksrs rs fygk- 3

(M) eq[;ea=h eaf=eaMGkpk usrk vlrks] Li"V djk- 3

fdaok

(b) jkT;ikykps Lofoosdk/khu vf/kdkj fygk- 3

(Q) jkT;ikykps fo/khfo"k;d vf/kdkj fygk- 3

(x) eq[;ea=;kps LFkku o Hkwfedk fygk- 3

(g) jkT;ikykyk cMrQZ dls dsys tkrkr Li"V djk- 3

4. (i) fo/kkulHksph jpuk fygqu vf/kdkj o dk;sZ fygk- 12

fdaok

(ii) fo/kku ifj"knsph jpuk fygwu vf/kdkj o dk;sZ fygk- 12
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5. FkksMD;kr mÙkjs fygk %

(v) mPp U;k;ky;kph jpuk fygk- 3

(c) mPp U;k;ky;kps izknsf’kd vf/kdkj{ks= fygk- 3

(d) ftYgk U;k;kGîkph jpuk fygk- 3

(M) mPp U;k;ky;kP;k U;k;k/kh’kkauk dls cj[kkLr dsys tkrs \ 3

fdaok

(b) ftYgk U;k;kGîkps vf/kdkj {ks= fygk- 3

(Q) mPp U;k;ky;kP;k U;k;k/kh’kkph ik=rk fygk- 3

(x) mPp U;k;ky;kps LFkku o Hkwfedk fygk- 3

(g) mPp U;k;ky;kps izkjafHkd vf/kdkj{ks= fygk- 3

6. FkksMD;kr mÙkjs fygk %

(v) xzkeiapk;rhph jpuk fygk- 3

(c) ljiapkph fu;qDrh d’kh gksrs rs fygk- 3

(d) ljiapuk dls cj[kkLr dsGs tkrs \ 3

(M) xzkelHksph jpuk fygk- 3

fdaok

(b) xzkelHksps pkj dk;sZ fygk- 3

(Q) ljiapkps pkj dk;sZ fygk 3

(x) xzkefodkl vf/kdkÚ;kps pkj dk;sZ fygk- 3

(g) xzkelHksph egRo fygk- 3
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AD–4119

B.A. Part–I (Semester–II) (CBCS) Examination

(Optional Subject)

POLITICAL SCIENCE

(Indian Political System)

Time : Three Hours] [Maximum Marks : 80

¼fgUnh ekè;e½

1. mfpr fodYi pqfu, %

(1) Hkkjr esa izFke lkoZtfud fuokZpu dc fy;k x;k \

(v) 1951 (c) 1952

(d) 1947 (M) 1950

(2) eq[; fuokZpu vk;qDr dh fu;qDrh dkSu djrk gS \

(v) jk"Vªirh (c) mijk"Vªirh

(d) U;k;k/kh’k (M) iz/kkuea=h

(3) fuokZpu vk;ksx dk izeq[k dk;kZy; dgk¡ fLFkr gS \

(v) eqacbZ (c) dksydkrk

(d) fnYyh (M) ukxiwj

(4) Hkkjrh; ernkj dh fuEurj vk;qe;kZnk D;k gS \

(v) 21 o"k Z (c) 18 o"k Z

(d) 25 o"k Z (M) 30 o"k Z

(5) lafo/kku dh dkSulh /kkjk ds varxZr jkT;iky in dk izko/kku fd;k x;k gS \

(v) 153 (c) 154

(d) 155 (M) 156

(6) jkT;iky in ds fy, fuEurk vk;qe;kZnk D;k gS \

(v) 25 o"k Z (c) 30 o"k Z

(d) 35 o"k Z (M) 18 o"k Z

(7) jkT;iky in dk dk;Zdky fdrus o"kZ dk gS \

(v) 5 o"kZ (c) 4 o"kZ

(d) 2 o"kZ (M) 3 o"kZ
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(8) ?kVd jkT; dk laoS/kkfud izeq[k dkSu gS \

(v) jkT;iky (c) jk"Vªirh

(d) eq[;ea=h (M) iz/kkuea=h

(9) ?kVd jkT; dk okLrfod ’kkluizeq[k dkSu gS \

(v) jkT;iky (c) iz/kkuea=h

(d) eq[;ea=h (M) jk"Vªirh

(10) eq[;ea=h dk dk;Zdky fdrus o"kZ dk gS \

(v) 3 o"kZ (c) fo/kkulHkk dk fo’okl jgus rd

(d) 4 o"kZ (M) 2 o"kZ

(11) jkT; eaf=eaMy dk dk;Zdky fdrus o"kZ dk gS \

(v) 3 o"kZ (c) fo/kkulHkk dk fo’okl jgus rd

(d) 2 o"kZ (M) 4 o"kZ

(12) jkT;eaf=eaMy fdldks ftEesnkj gS \

(v) yksdlHkk (c) jkT;lHkk

(d) fo/kkulHkk (M) fo/kkuifj"kn

(13) egkjk"Vª fo/kkulHkk dh lHkkln la[;k fdruh gS \

(v) 250 (c) 552

(d) 288 (M) 78

(14) jkT;fo/kk;hdk dk izFke lnu dkSulk gS \

(v) fo/kkulHkk (c) jkT;lHkk

(d) yksdlHkk (M) fo/kkuifj"kn

(15) fo/kkuifj"kn lnL; dk dk;Zdky fdrus o"kZ dk gS \

(v) 6 o"kZ (c) 5 o"kZ

(d) 3 o"kZ (M) 2 o"kZ

(16) egkjk"Vª dk mPp U;k;ky; dgk¡ LFkkfir gS \

(v) eqacbZ (c) psUubZ

(d) dksydkrk (M) iw.ks
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(17) mPp U;k;ky; ds U;k;k/kh’k dh fu;qDrh dkSu djrk gS \

(v) iz/kkuea=h (c) jk"Vªirh

(d) jkT;iky (M) eq[;ea=h

(18) mPp U;k;ky; ds U;k;k/kh’k dh lsokfuo‘rh vk;q fdruh gS \

(v) 65 o"k Z (c) 62 o"k Z

(d) 60 o"k Z (M) 55 o"k Z

(19) ljiap dk dk;Zdky fdrus o"kZ dk gS \

(v) 5 o"kZ (c) 7 o"kZ

(d) 4 o"kZ (M) 6 o"kZ

(20) ljiap us ,d lky esa fdruh xzkelHkk vkeaf=r djuk t:jh gS \

(v) 4 (c) 6

(d) 5 (M) 3 20

2. (i) fuokZpu vk;ksx dk xBu] vf/kdkj vkSj dk;Z fyf[k,A 12

vFkok

(ii) fuokZpu vkpkj lafgrk fyf[k,A 12

3. la{ksi esa mÙkj fyf[k, %

(v) jkT;iky in dh ik=rk,a fyf[k,A 3

(c) jkT;iky in dk dk;Zdky fyf[k,A 3

(d) eq[;ea=h dh fuq;Drh dSls gksrh gS] crkb;sA 3

(M) eq[;ea=h eaf=eaMy dk usrk gS] Li"V dhft,A 3

vFkok

(b) jkT;iky ds Lofoosdk/khu vf/kdkj fyf[k,A 3

(Q) jkT;iky ds fo/khfo"k;d vf/kdkj fyf[k,A 3

(x) eq[;ea=h dk LFkku vkSj Hkwfedk fyf[k,A 3

(g) jkT;iky dh cj[kkLrh dSls gksrh gS crkb,A 3

4. (i) fo/kkulHkk dk xBu] vf/kdkj vkSj dk;Z fyf[k,A 12

vFkok

(ii) fo/kkuifj"kn dk xBu] vf/kdkj vkSj dk;Z fyf[k,A 12

LT—945 10 (Contd.)
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5. la{ksi esa mÙkj fyf[k, %

(v) mPp U;k;ky; dk xBu fyf[k,A 3

(c) mPp U;k;ky; dk izknsf’kd vf/kdj {ks= fyf[k,A 3

(d) ftyk U;k;ky; dk xBu fyf[k,A 3

(M) mPp U;k;ky; ds U;k;k/kh’k dks dSls cj[kkLr fd;k tkrk gS \ 3

vFkok

(b) ftyk U;k;ky; dk vf/kdkj {ks= fyf[k,A 3

(Q) mPp U;k;ky; ds U;k;k/kh’k dh ik=rk,a fyf[k,A 3

(x) mPp U;k;ky; dk LFkku vkSj Hkwfedk fyf[k,A 3

(g) mPp U;k;ky; dk izkjafHkd vf/kdkj {ks= fyf[k,A 3

6. la{ksi esa mÙkj fyf[k, %

(v) xzkeiapk;r dk xBu fyf[k,A 3

(c) ljiap dh fu;qDrh dSls gksrh gS \ crk,aA 3

(d) ljiap dks dSls cj[kkLr fd;k tkrk gS \ 3

(M) xzkelHkk dk xBu fyf[k,A 3

vFkok

(b) xzkelHkk ds pkj dk;Z fyf[k,A 3

(Q) ljiap ds pkj dk;Z fyf[k,A 3

(x) xzke fodkl vf/kdkjh ds pkj dk;Z fyf[k,A 3

(g) xzkelHkk dk egRo fyf[k,A 3
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